

$$\begin{cases} 0 < \kappa^n \searrow 0 \\ M = \prod_n \overline{\kappa^n / \tau^n} < \infty \end{cases} \Rightarrow \sum_{n \in \mathbb{N}} \kappa^n \tau^n \rightsquigarrow$$

$$\begin{aligned} \bigwedge_{0 < p \leq q} \overline{\sum_n \kappa^n \tau^n} &= \overline{\sum_n \kappa^{n+n} \tau^{n-n}} = \overline{\sum_n \kappa^{n+n} \tau^n} - \overline{\sum_n \kappa^{n+n} \tau^n} \\ &= \overline{\sum_n \underbrace{\kappa^n - \kappa^{n+n}}_{\geq 0} \tau^n + \kappa^{qq} \tau^n - \kappa^{pp} \tau^n} \leq \sum_n \overline{\underbrace{\kappa^n - \kappa^{n+n}}_{\geq 0} \tau^n} + \overline{\kappa^{qq} \tau^n} + \overline{\kappa^{pp} \tau^n} \\ &= \sum_n \overline{\underbrace{\kappa^n - \kappa^{n+n}}_{\geq 0} \tau^n} + \overline{\kappa^q \tau^n} + \overline{\kappa^p \tau^n} \leq M \overline{\sum_n \underbrace{\kappa^n - \kappa^{n+n}}_{\geq 0} \tau^n} + \kappa^q + \kappa^p \\ &= M \overline{\underbrace{\kappa^p - \kappa^{p+1}}_{\geq 0} + \underbrace{\kappa^{p+1} - \kappa^{p+2}}_{\geq 0} + \dots + \underbrace{\kappa^{q-1} - \kappa^q}_{\geq 0} + \kappa^q + \kappa^p} \stackrel{\text{telescop}}{=} 2M \kappa^p \rightsquigarrow 0 \Rightarrow \text{Cau} \end{aligned}$$